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 إلٔ هٌارج العلن ّالإهام الوصطفٔ الذٕ جاء ردوح للعالو٘ي إلٔ س٘ذ الخلك

 إلى رسولنا الكزيم سيدنا محمد صل الله عليه وسلم

 الثوزج ُذٍ اُذَٗ فخز تكل  اسوَ ادول ّالذٕ للثٖ سكٌد الرٖ الغال٘ح الزّح إلٖ

 أبي

 ٗذِٗا لثل أدشائِا ّدضٌرٌٖ عٌِ٘٘ا لثل للثِا رأًٖ الرٖ إلٔ

 ّالذٌاى الذة ّهٌذرٌٖ للثِا تٌْر راعرٌٖ الرٖ إلٔ

 الصعْد فٖ ّرافمرٌٖ تالْرّد طزٗمٖ فزشد هي إلٔ

 العمثاخ كل فٖ هعٖ ّّلفد الرفْق اتْاب اهاهٖ فرذد هي إلٔ

 رّدٖ تلسن ُٔ هي إلٔ الذٌاى ًّثع الإهل تسوح إلٖ

 الِ٘ا ّهذثرٖ سلاهٖ أُذٓ

 الغالية أمي

 

 غ٘زٍ عمل تعلوَ ءأضا هي كل ّإلٖ دزفا علوٌٖ هي لكل الثذث ُذا ًِذٕ العلن لمذر إجلالا
 سوادح ّتزداترَاء العلو ذْاضع تسوادرَ فاظِز  سائلَ٘ د٘زج الصذ٘خ تالجْاب ُذٕ أّ

 العارف٘ي

 أساتذتي

 ّالرفْق ّالإتذاع الٌجاح ًذْ هعا الطزٗك ًشك ًّذي هعِن سزًا هي إلٔ

 هاذعلوٌا ثوزج ًمطف ًّذي ت٘ذ اً ٗذ ذكاذفٌا هي إلٔ

 وسملائنا أصدقائنا إلى

 انباحثىن
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Abstract 

This study has concluded that Statistic tests are essential during any conducted 

research especially for any Statistical researcher. 

Results show that increasing the sample size support and increases the 

strength of the test for (t- test) on one or two connected samples and the 

same goes on the Independent samples. 

The samples (n=9, n=14, n=19, n=24, n=29) Taken from a society with (N = 30) 

keeping in mind the given orders to (PASS14) software. 

This data achieve the group of assumptions needed for the (t- test). 

In one sample case we found that the strength of this test is between (0, 

99971) to (1, 00000). 

Two connected samples case shows the strength of the Statistic test between 

(0, 82399) to (0, 99999), when we chose two Independent samples test 

strength become between (0, 92399) to (1.00000). 

Getting this type of results and increasing sample size to a proper amount gives 

us perfect strong test with less errors from the second type.  

Due to this subject is under evaluation we advise to not increase the sample 

size more than the limits that’s provide proper test strength.this study 

recommend to do more studies about the effect of the (average 

,variation,signifecal level) of the ststistical test power. 
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